

AYEOLA OLAJIDE ABDUL-HAFEEZ

15/ENG07/008

ENGINEERING MATHEMATICS 3

CHEMICAL ENGINEERING

ASSIGNMENT FOUR

ATENA OLATOP ARITHMETIKI

ISOTAKTOS

ΕΠΙΧΕΙΡΗΣΙΑΣ ΜΑΘΗΜΑΤΑ: ΕΠΙΧΕΙΡΗΣΙΑΣ

ΟΙΚΟΝΟΜΙΚΩΝ

ΠΡΟΒΛΗΜΑΤΑ

2) Transformiere die folgenden Funktionen mit Hilfe (1) in Form $3e^{4t} - 5e^{2t}$

$$\begin{aligned} L\{3e^{4t} - 5e^{2t}\} &= L\{3e^{4t}\} - L\{5e^{2t}\} \\ &= \frac{3}{s-4} - \frac{5}{s-2} \end{aligned}$$

3) Summe 2 Summen

$$\begin{aligned} L\{3\cos t + 5\sin t\} &= L\{3\cos t\} + L\{5\sin t\} \\ &= \frac{3}{s^2+1} + \frac{5}{s^2+1} \end{aligned}$$

$$\begin{aligned} 3) L\{e^{2t} + 3e^{-t} + 4 + 5\} &= L\{e^{2t}\} + L\{3e^{-t}\} + L\{4\} + L\{5\} \\ &= \frac{1}{s-2} + \frac{3}{s+1} - \frac{4}{s} + \frac{5}{s} \\ &= \frac{1}{s-2} + \frac{3}{s+1} + \frac{1}{s} \end{aligned}$$

4) $L\{e^{2t} \cos t\}$

$$L\{e^{2t} \cos t\} = \frac{s}{s^2+8^2} - \frac{1}{s^2+25}$$

$$L\{e^{2t} \sin t\} = \frac{(s-2) \cdot 1}{(s^2+25) \cdot 25} = \frac{32}{(s^2+25)^2}$$

5) $L\{t \cos t\}$

$$L\{t \cos t\} = -\frac{2s}{s^2+9}$$

$$L\{t \sin t\} = -\frac{1}{s^2} \left(\frac{2}{s^2+9} \right) = -\frac{2}{s^2(s^2+9)}$$

$$\frac{d}{ds} \left(\frac{2}{s^2+9} \right) = \frac{-4s}{(s^2+9)^2}$$

$$\text{mit } u = s^2+9 \Rightarrow \frac{du}{ds} = 2s$$

$$\frac{1}{2s} = \frac{1}{u}$$

$$L\{t \sin t\} = \frac{1}{2s} \left(\frac{2}{s^2+9} \right) = \frac{(1)(2)(1)}{(s^2+9)^2} = \frac{2}{(s^2+9)^2}$$

$$f(x) = \frac{-6x}{(x^2+1)^2}$$

Null

$$f(x) = -6x$$
$$-x = \frac{6x}{(x^2+1)^2}$$

$$f'(x) = \frac{6x}{(x^2+1)^2}$$

$$v) \lim_{x \rightarrow 0} \left(\frac{e^x - e^{-x}}{x} \right)$$

Wir haben die Regel von L'Hôpital

zu verwenden

$$\lim_{x \rightarrow 0} \left(\frac{f(x)}{g(x)} \right) = \frac{f'(x)}{g'(x)}$$

$$= \lim_{x \rightarrow 0} \left(\frac{e^x + 2e^{-x}}{1} \right)$$

$$= e^0 + 2e^{-0}$$

$$= 1 + 2 = 3$$

Wir haben die Regel von L'Hôpital

$$\lim_{x \rightarrow 0} \left(\frac{e^x - e^{-x}}{x} \right) = \lim_{x \rightarrow 0} \left(\frac{e^x + 2e^{-x}}{1} \right) = \frac{1}{1} = 3$$

$$\lim_{x \rightarrow 0} \left(\frac{e^x - e^{-x}}{x} \right) = \lim_{x \rightarrow 0} \left(\frac{1}{x+1} - \frac{1}{x-1} \right)$$

$$= \left[\ln(x+1) - \ln(x-1) \right]_0^{\infty}$$

$$= \left[\ln \left(\frac{x+1}{x-1} \right) \right]_0^{\infty}$$

$$= \ln \left(\frac{\infty+1}{\infty-1} \right) - \ln \left(\frac{1}{-1} \right)$$

$$= 0 - \ln \left(\frac{1}{-1} \right)$$

$$= \ln \left(\frac{1}{-1} \right)$$

$$10) \quad \mathcal{L}(e^{at} \cos at) \\ \mathcal{L}(\cos at) = \frac{s}{s^2 + a^2} = \frac{s}{s^2 + a^2}$$

$$\mathcal{L}(e^{at} \cos at) = \frac{s-a}{(s-a)^2 + a^2}$$

$$11) \quad \mathcal{L}(f(s)) \\ \mathcal{L}(f(s)) = \frac{1}{s^2 + a^2}$$

$$\mathcal{L}(f(s)) = \frac{1}{s^2 + a^2}$$

$$\mathcal{L}(f(s)) = \frac{1}{s^2 + a^2}$$

$$u = s, \quad \frac{du}{ds} = 1, \quad v = s^2 + a^2, \quad \frac{dv}{ds} = 2s$$

$$f(s) = \frac{1}{s^2 + a^2} = \frac{1}{v} = \frac{1}{2} \frac{dv}{v} = \frac{1}{2} \ln|v| = \frac{1}{2} \ln|s^2 + a^2|$$

$$f(s) = \frac{1}{2} \ln|s^2 + a^2|$$

$$\mathcal{L}(f(s)) = \frac{1}{2} \ln|s^2 + a^2| = \frac{1}{2} \ln|s^2 + a^2|$$

$$12) \quad \mathcal{L}(s^2 + 4s + 4) \\ = \mathcal{L}(s^2) + \mathcal{L}(4s) + \mathcal{L}(4) \\ = \frac{2!}{s^3} + \frac{4 \cdot 1!}{s^2} + \frac{4}{s} \\ = \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$$= \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$$= \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$$= \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$$= \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$$= \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$$= \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$$= \frac{2}{s^3} + \frac{4}{s^2} + \frac{4}{s}$$

$L(s^2 \cos t)$
 $L(s^2 \cos t) = -\frac{d}{ds} L(\cos t)$
 $L(\cos t) = \frac{s}{s^2+1} = \frac{1}{s+i}$
 $L(s^2 \cos t) = -\frac{d}{ds} \left(\frac{1}{s+i} \right)$
 let $u = s+i$ $v = s^2+1$
 $\frac{du}{ds} = 1$ $\frac{dv}{ds} = 2s$
 $f(s) = \frac{(s^2+1)(1) - (1)(2s)}{(s^2+1)^2}$
 $f(s) = \frac{s^2+1-2s}{(s^2+1)^2} = \frac{1-s^2}{(s^2+1)^2}$
 $L(s^2 \cos t) = -L'(s \cos t)$
 $f(s) = \frac{1-s^2}{s^2+1+i}$
 let $u = 1-s^2$ $v = s^2+1+i$
 $\frac{du}{ds} = -2s$ $\frac{dv}{ds} = 2s+i$
 $L(s^2 \cos t) = -\left(\frac{(s^2+1+i)(-2s) - (1-s^2)(2s+i)}{(s^2+1+i)^2} \right)$
 $L(s^2 \cos t) = \frac{-2s^2 - 1 + 2s^2 + 2s + 2s^2 + 1 + 2s^2 + 1 + 2s^2}{(s^2+1+i)^2}$
 $L(s^2 \cos t) = \frac{-2s^2 - 1}{(s^2+1+i)^2}$
 $L(s^2 \cos t) = \frac{-2s^2 - 1}{(s^2+1+i)^2}$

1) $\int \frac{1}{s^2+1} ds$ (Partial Fraktion)

$$\frac{1}{s^2+1} = \frac{A}{s-i} + \frac{B}{s+i}$$

$$\int \frac{1}{s^2+1} ds = \int \frac{1}{(s-i)(s+i)} ds$$

Let $u = s-i$
 $\frac{du}{ds} = 1 \Rightarrow ds = du$
 $s+i = u+2i$

$$= \int \frac{1}{u(u+2i)} du = 2 \int \left(\frac{A}{u} + \frac{B}{u+2i} \right) du$$

$$= 2 \left(A \ln|u| + B \ln|u+2i| \right)$$

$$= 2 \left(A \ln|s-i| + B \ln|s+i| \right)$$

$$= 2 \left(\frac{1}{2} \ln|s-i| + \frac{1}{2} \ln|s+i| \right)$$

$$\int \frac{1}{s^2+1} ds = \ln|s-i| + \ln|s+i|$$

2) Given by following function in (1) form

$$s-5$$

$$(s-3)(s+4)$$

$$\frac{s-5}{(s-3)(s+4)} = \frac{A}{s-3} + \frac{B}{s+4}$$

Remove the partial fraction

$$s-5 = A(s+4) + B(s-3)$$

$$s-5 = As + 4A + Bs - 3B$$

$$s-5 = (A+B)s - 4A - 3B$$

$$A+B = 1 \quad (1) \quad -4A - 3B = -5 \quad (2)$$

From Eq (1) $A = 1-B$ put in Eq (2)

$$-4(1-B) - 3B = -5$$

$$-4 + 4B - 3B = -5$$

$$-4 + B = -5$$

$$B = -5 + 4$$

$$B = -1$$

$$-4 + 4B = 10 \Rightarrow 4B = 14 \Rightarrow B = 3.5$$

$$B = 3.5 \Rightarrow 4 = 1 - C \Rightarrow C = -3$$

$$L^{-1} \left(\frac{3.5}{(s-1)(s+1)} \right) = L^{-1} \left(\frac{3.5}{s-1} + \frac{1}{s+1} \right)$$

$$L^{-1} \left(\frac{3.5}{(s-1)(s+1)} \right) = 3.5e^{st} + e^{-st}$$

$$L^{-1} \left(\frac{2s-5}{(s-1)(s+1)} \right) = L^{-1} \left(\frac{A}{s-1} + \frac{B}{s+1} \right)$$

$$2s-5 = A(s+1) + B(s-1)$$

$$2s-5 = As + A + Bs - B$$

$$2s-5 = (A+B)s + (A-B)$$

$$A+B = 2 \quad (1)$$

$$A-B = -5 \quad (2)$$

$$B = 2 - A$$

$$A = 2 - B \quad \text{Subst. in (1)}$$

$$-B(2-B) = -5$$

$$-2 + 2B = -5$$

$$2B = -3$$

$$B = -1.5$$

$$L^{-1} \left(\frac{1}{s-1} + \frac{-1.5}{s+1} \right)$$

$$L^{-1} \left(\frac{1}{s-1} - \frac{1.5}{s+1} \right) = e^{st} - 1.5e^{-st}$$

(6-11)(5-1)

$$b) \mathcal{L}^{-1}\left(\frac{5s-1}{s(s-4)}\right) = \mathcal{L}^{-1}\left[\frac{A}{s} + \frac{B}{s-4}\right]$$

$$\text{ss } 1 = A(s-4) + Bs$$

$$\text{ss } 4 = As - 4A + Bs$$

$$\text{ss } 4 = (As + Bs) - 4A$$

$$A + B = 0 \quad (1)$$

$$-4A = -4 - 4B \quad (2)$$

$$\text{From (1):}$$

$$A = 0$$

$$\text{Hw } B = 5 - 0 = 5$$

$$\mathcal{L}^{-1}\left[\frac{5}{s} + \frac{5}{s-4}\right] = 5 + 5e^{4t}$$

$$c) \mathcal{L}^{-1}\left(\frac{s^2 - 2s + 4}{(s-1)(s-2)(s-3)}\right) = \mathcal{L}^{-1}\left(\frac{A}{s-1} + \frac{B}{s-2} + \frac{C}{s-3}\right)$$

$$s^2 - 2s + 4 = A(s-2)(s-3) + B(s-1)(s-3) + C(s-1)(s-2)$$

$$s^2 - 2s + 4 = A(s^2 - 5s + 6) + B(s^2 - 4s + 3) + C(s^2 - 3s + 2)$$

$$s^2 - 2s + 4 = As^2 + Bs^2 + Cs^2 - 5As - 4Bs - 3Cs + 6A + 3B + 2C$$

$$s^2 - 2s + 4 = (A+B+C)s^2 + (-5A-4B-3C)s + (6A+3B+2C)$$

$$s^2 - 2s + 4 = (A+B+C)s^2 + (-5A-4B-3C)s + (6A+3B+2C)$$

Compare like terms

$$A+B+C = 1 \quad (1) \quad -5A-4B-3C = -2 \quad (2)$$

$$6A+3B+2C = 4 \quad (3)$$

$$\text{Add (2) and (3):} \quad -A-3C = 2 \quad (4)$$

$$\text{Sub (4) in (1):}$$

$$-1+B+3C = 1$$

$$-2B-3C = 2 \quad (5)$$

$$C-3C = -2 \quad (6) \quad +0$$

$$-2C = -2 \quad (4) \quad \times 1$$

$$2C = 2 \quad (6) \quad \times (-1)$$

$$-2C = -2$$

$$C = 1$$

$$B = 0$$

$$A = 0$$

Ex 6. (5)

$$C = 20 = -2$$

$$C = 3 \times \frac{11}{7} = 3$$

$$C = 3 + 3 \times \frac{11}{7} = \frac{48}{7}$$

Ex 7. a

$$A = 1 - \frac{11}{7} + \frac{11}{7}$$

$$\mathcal{L}^{-1}\left(\frac{3s^2 - 11s + 4}{(s-2)(s-1)^2}\right) = \mathcal{L}^{-1}\left(\frac{-\frac{4}{3}}{s-2} + \frac{\frac{11}{3}}{s-1} + \frac{\frac{47}{3}}{(s-1)^2}\right)$$

$$= -\frac{4}{3}e^{2t} + \frac{11}{3}e^t + \frac{47}{3}te^t + \mathcal{L}^{-1}\left(\frac{47}{(s-1)^2}\right)$$

$$\mathcal{L}^{-1}\left(\frac{1}{(s^2+1)^2}\right) = \mathcal{L}^{-1}\left(\frac{3s^2-2}{(s^2+1)^2} + \frac{2}{s^2+1}\right)$$

$$\mathcal{L}^{-1}\left(\frac{3s^2-2}{(s^2+1)^2}\right) = \mathcal{L}^{-1}\left(\frac{3s^2-2}{(s^2+1)^2}\right) = \frac{2}{(s^2+1)^2} + \frac{1}{s^2+1}$$

$$= \mathcal{L}^{-1}\left(\frac{3s^2-2}{(s^2+1)^2}\right) = \mathcal{L}^{-1}\left(\frac{2}{(s^2+1)^2} + \frac{1}{s^2+1}\right)$$

$$\mathcal{L}^{-1}\left(\frac{3s^2-2}{(s^2+1)^2}\right) = \mathcal{L}^{-1}\left(\frac{2}{(s^2+1)^2} + \frac{1}{s^2+1}\right)$$

$$t \cdot \cos t - \frac{1}{2} e^{-t} \sin 2t$$

1) we have $y'' + 2y' + 2y = 0$

Let $y = e^{mx}$

$m^2 + 2m + 2 = 0$
 $m = -1 \pm i$ $m = -1 - i$ $m = -1 + i$
 $y = e^{-x} \cdot e^{ix} \quad y = e^{-x} \cdot e^{-ix} \quad y = e^{-x} \cdot e^{ix}$

$W = y_1 y_2' - y_2 y_1'$
 $= e^{-x} (i e^{-x} e^{ix}) - (-i e^{-x} e^{-ix}) + e^{-x} (i e^{-x} e^{-ix})$
 $= i e^{-2x} e^{ix} + i e^{-2x} e^{-ix} + i e^{-2x} e^{-ix}$

Let $u_1 = -2ix$
 $v_1 = 2x \quad v_2 = 2x \quad v_3 = 0$
 $u = u_1 \quad v = v_1$

$W = y_1 v_1' - v_1 y_1'$
 $= e^{-x} (2) - 2x (-e^{-x})$
 $= 2e^{-x} + 2xe^{-x}$

Let $u_2 = 2x$
 $v_1 = 0 \quad v_2 = 0$
 $u = u_2 \quad v = v_1$

$W = y_1 v_1' - v_1 y_1'$
 $= e^{-x} (0) - 0 (-e^{-x}) = 0$

$W = y_1 y_2' - y_2 y_1'$
 $= e^{-x} (i e^{-x} e^{ix}) - (-i e^{-x} e^{-ix}) + e^{-x} (i e^{-x} e^{-ix})$

Let $u_3 = 2ix$
 $v_1 = 0 \quad v_2 = 0$
 $u = u_3 \quad v = v_1$

Final result is $y = e^{-x} (C_1 e^{ix} + C_2 e^{-ix})$

$$n=0 \quad (y^{(0)})_0 = 0$$

$$n=1 \quad (y^{(1)})_0 = (y')_0$$

$$n=2 \quad (y^{(2)})_0 = 0$$

$$n=3 \quad (y^{(3)})_0 = (-3y^2)_0 = -3(y^{(0)})_0^2$$

$$n=4 \quad (y^{(4)})_0 = 0$$

$$n=5 \quad (y^{(5)})_0 = -15y^4 = -15(y^{(0)})_0^4$$

$$n=6 \quad (y^{(6)})_0 = 0$$

Then the series is

$$y = y_0 + y_1' = \frac{x^2}{2!} (y')_0 + \frac{x^3}{3!} (y^{(3)})_0 + \frac{x^5}{5!} (y^{(5)})_0$$

$$= \frac{x^2}{2} (y')_0 + \frac{x^3}{6} (-3(y^{(0)})_0^2) + \frac{x^5}{120} (-15(y^{(0)})_0^4)$$

$$y = y_0 + (y')_0 \frac{x^2}{2} - \frac{(y')_0^2}{40} x^3 + \frac{3(y')_0^4}{1120} x^5$$

$$(y = y_0 + (y')_0 \left(\frac{x^2}{2} - \frac{2x^3}{40} + \frac{x^5}{1120} + \dots \right))$$